

# Credit Equivalency Service

Equaling the certificates issued by Universities and Institutions of Higher Education for use around the World



## MISSION OF IAO

"IAO is a globally recognized accreditation council formed to establish, preserve and promote the finest standards of education, and it works as a catalyst for training and development to secondary and higher education institutions."

## INTRODUCTION

Regardless of which university you have studied at, we offer you a chance to get your course credits equivalent and improve your career prospects worldwide. If you have studied at any other globally recognized college or university, you can now benefit from our Credit Equivalency services and have your credits assessed to meet international standards. These equivalencies save you from a lot of unnecessary paperwork and make your employment and academic process easier. It gives you a prerequisite for your next academic endeavor and open new doors of employment opportunities for you globally.

# SAMPLE DOCUMENTS

### **Equivalency Certificate**

### Equivalency Letter





#### Course Equivalency Certificate

This certifies that IAO recognizes all of the below mentioned MBA courses undertaken by Jane Alonso from Bircham International University. The courses meet the international education standards of MBA as set by IAO and are considered equivalent as a prerequisite for the next academic level and career employment purposes.

Course Code	Course name	Credit hours
522	Finance & Economics	3
525	Marketing & Communication	3
526	Advertising & Public Relations	3
528	Business Entrepreneurship Plan	3
561	Business Marketing	3
523	Cost & Managerial Accounting	3
524	Product & Price Management	3
527	Sales Force Management	3
566	Human Resources	3
568	Customer Relations Management	3
891	Promotional Strategies	3
562	Business Finance	3
887	Financial Management	3
890	Financial Strategic Planning	3
565	Management Information Systems	3
569	Human Resources Management	3
819	Strategic Marketing Management	3
821	Business Law	3
823	Business Management	3
824	Entrepreneurship Management	3

Feet Rem

10685-B Hazelhurst Dr. #11524, Houston, TX 77043, USA

# CREDIT EQUIVALENCY FEE STRUCTURE

#### Associate Degree Program(s) Equivalency Fees

	Total Courses	Total Credit Hours	Fees/Credit Hr	Total Fees in USD	UAE - DHR*	KSA - RYL*	Kuwait - DNR*	Bahrain - BHD*	Qatar - QAR*
Associate of Arts Degree	10	60	35	\$2,100	7707	7875	609	798	7644
Associate Degree (any professional school)	13	78	35	\$2,730	10019	10238	792	1037	7644
Associate Degree (with specialization)	16	96	35	\$3,360	12331	12600	974	1277	12230

#### Bachelor's Degree Program Equivalency Fees

	Total Courses	Total Credit Hours	Fees/Credit Hr	Total Fees in USD	UAE - DHR*	KSA - RYL*	Kuwait - DNR*	Bahrain - BHD*	Qatar - QAR*
Associate to Bachelor's Degree	14	84	35	\$2,940	10790	11025	853	1117	10702
Bachelor's Degree	24	144	35	\$5,040	18497	18900	1462	1915	18346

#### Master's Degree Program Equivalency Fees

	Total Courses	Total Credit Hours	Fees/Credit Hr	Total Fees in USD	UAE - DHR*	KSA - RYL*	Kuwait - DNR*	Bahrain - BHD*	Qatar - QAR*
Master's Degree	10	60	40	\$2,400	8808	9000	690	910	8750

<sup>\*</sup> Prevailing Dollar Value will be charged

# CREDIT EQUIVALENCY FEE STRUCTURE

#### **Doctorate Degree Programs Equivalency Fees**

	Total Courses	Total Credit Hours	Fees/Credit Hr	Total Fees in USD	UAE - DHR*	KSA - RYL*	Kuwait - DNR*	Bahrain - BHD*	Qatar - QAR*
Doctorate Degree (Research)	3 Research 6 Thesis	54	50	\$2,700	9909	10125	783	1026	9828
Doctorate Degree (Applied)	3 Research 6 Thesis	54	50	\$2,700	9909	10125	783	1026	9828

#### Diploma Programs Equivalency Fees

	Total Courses	Total Credit Hours	Fees/Credit Hr	Total Fees in USD	UAE - DHR*	KSA - RYL*	Kuwait - DNR*	Bahrain - BHD*	Qatar - QAR*
Undergraduate Diploma	6	36	35	\$1,260	4624	4725	365	479	4586
Graduate Diploma	5	30	35	\$1,050	3854	3938	305	399	3822

#### Certificate Programs Equivalency Fees

	Total Courses	Total Credit Hours	Fees/Credit Hr	Total Fees in USD	UAE - DHR*	KSA - RYL*	Kuwait - DNR*	Bahrain - BHD*	Qatar - QAR*
Undergraduate Course Certificate	1	6	35	\$210	771	788	61	80	764
Undergraduate Certificate	3	18	35	\$630	2312	2363	183	239	2293
Graduate Course Certificate	1	6	35	\$210	771	788	61	80	764
Graduate Certificate	2	12	35	\$420	1541	1575	122	160	1529

<sup>\*</sup> Prevailing Dollar Value will be charged





## Contact IAO

#### Contact Office:

IAO, 10685-B Hazelhurst Dr. #11524 Houston, TX 77043, USA



Phone: 1-866-2768-IAO (426)



Email: contact@iao.org



Website: http://iao.org